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Show all work Period: Date;
Warm-up on Nov. 21
Solve. Solve for y.
l. -3x+5=2 2 l.r—ﬁ:Z 3. 2x+y=8
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4. y="x-1 5. y=—x+2
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fv - intercept) b= ——, fy - intercepi) b= 2\
-}
{slope) m= ,qL fslope) M= —Ti-

Identify the slope and the y-intercept of each graph

w = +
6. (v-intercepyy b= — . 7. (v—intercept) b= 5
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f.‘i.:lpf} m= 5 (slope) M= 9‘
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u= s X — p= 1 W= 3 p_ 4 + o
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Identify each line with “.@S_MSJDFG (a :

Slope =

ABC

Identify each line with a \ SnggjL\{e g]DPﬂ_
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Determine e MOPQ.. oF each line

Identify the lines W\’}h ')r\.\e, SaMme S\U?&
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Determine the slope of the line that passes through each pair of points
X

Y
1. (3, 3) and (4,9) 2.¢3,5) and (| ,2)

Slope




